Newington College Yr 11 Mathematics Assessment 2 2012
(10 marks) Place your response on the attached ANSWER SHEET

Question 1
Marks
Multiple choice
(1) Which one of the following has three significant figures? 1
(A)  2.568 (B)  0.5803 (C) 583000 (D)  5.830
1
(i1) Which one of the following is equal to (E) ’ ? 1
(A) L B) 38 © 4 (D) !
4 8
(ii1) If d>=8"+9°-2x8x9xcos30° , find d correct to one decimal place?
1
(A) 4.5 (B) 26.6 (C) 668 (D) 11.1
(iv) Which one of the following represents 0.5 6 , in its simplest form.
1
56 14 51 17
A — B — C — D —
(A) 99 (B) Y ©) %0 D) 20
(V) A sports store has a sale discounting everything by 40%. If I purchase a football
for $230,which one of the following represents the original price, to the nearest
dollar? 1
(A)  $575 (B)  $383 ©  $92 (D)  $138

(vi) Which one of the following is NOT true?

IA

B) |a+b|<|a|+]|b]
D) Ja-b|=]|b-al
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(vii)

(viii)

(ix)

(x)
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Assessment 2 2012

Expand and simplify 2x° + 3xy — 2x(x — 4y).

(A)  1lxy (B) 4 -5y (O

4~ 11lxy (D)

—11xy

Which one of the following equals v/ 25a° ?

(A) 5@’ (B) 25a°

(C) 25a* (D) 5a*°

Which one of the following is the factorised form for 12 — X — X* ?

A (“4-x6-X (B)

© “@=-x¢4+Xx (D)
V12 ++/24 when simplified gives

A) 6 (B)

© 23 +2J6 (D)

4+ X3 - Xx)

B+ x)(4 + Xx)

2\/§+6\/E
4J3 + 46
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Question 2 (10 marks) Start this question on a NEW PAGE.

BASIC ARITHMETIC
b1 43
(a)  Simplify S 4
1 .2
5-+3-
377

(b)  Evaluate
G |-2-3]
(i) V8?46
(i) (-1)’

3
(c) Write 25 ? as a fraction in its simplest form.

(d) Peter scored 56 out of 70 for his Maths test. What percentage is this?

(e) Express the following in scientific notation correct two 1 significant place.

(2.5x10%)x(5.7x107)
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Question 3 (20 marks) Start this question on a NEW PAGE. Marks

ALGEBRA and SURDS

(a) Expand 3
(i) (3p-5)° (ii) (7y—-1)(7y+1)

(b) Expand and simplify 4
i 43(v3-0) i) (2-5)(v5+2)

(c) Factorise fully
(i) X*—T7x+12 1
(i1) 5-20x 2
(i)  6x*+11x-35 2
(iv) X +27 1
(v) 2a’h-16b* 2

(d)  Simplify the following algebraic fractions 3

2x X
2X—4 X+2
(e) If 8 =a+b+/5, find the values of a and b. 3
7-3J5
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Question 4  (20marks) Start this question on a NEW PAGE.
EQUATIONS

(a)

(b)

(©)

(d)

(e)

®

(2

Solve the following:

(1) 3x=7

. p p+l
Z_F 1

575

(i) [2x-1=5

Solve the following inequalities.

(i) —13’%231 () |a+5[>4

Solve 2x* —=x—1=0 by factorising first.

Solve 3x*>+9x—1=0 leaving your answers correct to 2 decimal places.

Use the completing of the square method to solve X* +4x—1=0,

leaving your answer in exact form.

Solve X* >4x
Solve the following simultaneous equations

5x—4y =9
2y =x+3
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Question 5 (20marks) Start this question on a NEW PAGE.
FUNCTIONS and GRAPHS

(a)

(b)

(c)

(d)

(e)

If f(x)=x"—x+7 find f(-1)+f(l)

Sketch each of the following graphs on separate axes, showing
all important features.

(i) y=2x-1

(ii) y=X2—4X+3

iy  fO=v9-x
2

(iv) 9% =3

w  feo=px-1

Determine the domain and range for

(1) f(X)=Vx+4

1
9—x?

G) 9=

Show that f (X) =X’ + X is an odd function.

X

Sketch f(Xx)= o

END OF PAPER
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